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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Jl=la 109,870,020 109,870,020 0
HeRags(0lEy) 109,870,020 109,870,020 0
SIS (MELFSIS)(MEEHSIS) 49,870,020 79,870,020 A 30,000,000
MHEHESIIIZ WX 49,870,020 79,870,020 A30,000,000
602 Ol Xl = 49,870,020 79,870,020 A30,000,000
01 LBHOIXI= 49,870,020 79,870,020 A 30,000,000
O MELHHESIIZ MXl=
2 & 49,870,020,000& 49,870,020 79,870,020 A 30,000,000
HEHAHXS (MBI I2)(HEBHESII2) 60,000,000 30,000,000 30,000,000
JIEtI A = 60,000,000 30,000,000 30,000,000
701 JIEtSI HSEES 60,000,000 30,000,000 30,000,000
01 JIEteI HE &= 60,000,000 30,000,000 30,000,000
O 2esll 8=3 Z & 60,000,000,000& 60,000,000 30,000,000 30,000,000




